1 557250W519DI9R AW OIIP2 J7an
(88-132)

'R TV LU ywn

YD 782 '91N9 nxNn

JN719 |NIT 727NN

-5 nifxkwn 70 5y niv? v nivw 3 ;j)nann qwn

ATV NIN 70 .(NIYA19 AMXYAN [IAWNN X7) W [1AwUNN Uin'yn NN
AIOK — [1AWNN? 0O

JNRIYNA 7D NX A0 77 DD'™W A7 Inv

(n1T1;7;3 21) 1 IRV

212790 IK INDIN .Xp-2 NI K7 WR NIXAo f,g ' ('m7) X
X ANOMIN? f+ g

IX INDIN .D"'wAn9'nooon b= b’ ja=a' ' (m7) A
.a+b=a +b" :dpM9N

Xo € (a,b) 'nni (a,b)-2a nMrmanwnn axpad f'an (| 7) a2
U MmN [IX'P DT X7 X 2090 IR NI L (xg) = 0-w D

f (%)



(ni1T11I;72 22) 2 "INV

Y79 VTAY .a E R N AT NNO iR RN (‘7 11) X

NYTN
ff(x)iinzx x %0
g(x) = 3
a x=0
\

AN 2'wnn x 727 N9 g(x) nxavn a D 17'R 1Ay
g(x) o0 D kN 'R gvoa onkynw a Dw A (‘i 11) a

NNRXINN DX IXV] NI7D) DY NNITA DR AN x = 0 NTIRIA N'TA
(f (x) n'xj9n NIy¥nxa

(ni1T11;73 22) 3 n'1INY

v w f(x) = §x7 + x3 + x + 10 o297 DI (7 11) X
1272 TNX 'wnn

Dy 0<a<b < % 9w inmn (7 11) A

b—a b—a
< tan(b) —tan(a) < >
cos* b

cos?a



(niTiga 22) 4 a'1xw

2
N"¥79 X'N | x| "WUN]) limn_,oo% 7220 nx awn (m 11) X

(x *wnnn 'onn 7w nvn 97 7212'vin IS D7wn wn

. arctan(n)-ln(e’™—6n .
dimy L0 ( )n ( ) 72an nxnwn (‘m11) a

(nimiga 21) 5 n'ixw

010NN ,07NN2 012NN NIN DXN 1YA'P ,0'XAN DNIVNN TNX 7D 1Y
TANN IX L,'KIN]

w 1
Zn=1ﬁ (‘m7).x

(- 3(?)

200 (_1)n_n5779
n=1 (n2019)n

(‘m7) .a

IAn7y¥n2



